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E E [ Current moving method]

E L un i mEe 3—_I_~/I Carry a work weighing 1 kg by hand
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E [Problem]

1.Carry the heavy product by hand - The risk of falling products
(Risk IT)

2.Take the product after assembly by hand - The work loss
(2 sec/time X 10 truck/day = 20 sec/day)
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Table — Cart
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Unlock cart fixed and the stopper at one moving
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[Implementation]

= Carry without holding the work and abolish by hand due to attach wheels to the assembly]
table, connect the table and shlef by square timbers, change a type of pulling out

*Add two functions : Step on the pedal - The stopper at top of assembly table is lowered
[Effect]

* Examinated the risk of falling products due to abolish by hand (RiskII = Risk I )
Reduce the work loss by carrying (20 sec/day X 20 day/month = 400 sec/month)
[Mechanism]

Attach wheels and square timbers to the assembly table to make a pulling out type
Connect the pedal and the cart to lower the stopper by the action(steping on the pedal)
to stop the cart after pulling out

h B (Effect of Kaizen activities)
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olish by hand (RiskIIl = Risk II )
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Redduce the work loss by hand

20 sec/day X 20 day/month = 400 sec/month
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